
 

  
 Click here for larger picture     Click here for larger picture 

Abbreviations 
R ring  Ch chain   LCh lock chain SR split ring 
RW reverse work DPR daisy picot ring SS switch shuttles 
Lj lock join  Sh1 shuttle 1  Sh2 shuttle 2 Sh3 shuttle 3 
vsp very small picot    SCh split chain - optional 
SLT shoe lace trick     SCMR self closing mock ring 
DNRW do not reverse work    DPR daisy picot ring 

Skills required - Split rings, self closing mock rings, daisy picot technique and for version 
2 - wrapping thread over two others like second side of a split ring. 

Materials required - 2 or 3 colours of thread and 2 or 3 shuttles.  2 shuttles for version 1 
and 3 for version 2.  Also a safety pin/paper clip to make a vsp on the lock chain.  Size 20 
thread in a dark and light colour.  Wind 7 yards onto Sh1, 8¼ yards onto Sh2 and 4½ onto 
Sh3 for version 2. 

Tips 
1. Link for making the Daisy Picot 
2. Use a safety pin/paper clip to keep a small vsp at start of lock chains 
3. When joining a DPR to a SCMR use the outer colour of the DPR to join - closest to 
the picot you’re joining to. 
4. Mark shuttles with their number (1, 2 or 3) 

Note – for those who prefer front side/back side tatting the text in italics and red indicates 
where the worker needs to use the second half of the ds first. 
 

Version 1 - using two shuttles 
First end - using lighter colour (Sh1) and hiding ends 
SR1: 3 vsp 3 / 6 Cl RW 
Ch: 14  
First side 
LCh: vsp (use safety pin) 4 RW SLT 
DPR2: 2 SS 3 + (SR1) 3 SS 2 SS 3 vsp 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh) SLT RW 
Ch: 12 RW SS 
* SCMR3: 2 SS 
  RA: 3 + (3rd DP) 3 Cl SS 
  SCMR3: 2 SS 
  RB: 3 - 3 Cl SS 
  SCMR3: 2 SS 
  RC: 3 vsp 3 Cl SS 
  SCMR3: 2 Cl RW SS 
Ch: 12 - continue to 
LCh: vsp (use safety pin) 4 SLT RW 
DPR4: 2 SS 3 + (last SCMR) 3 SS 2 SS 3 vsp 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh) SLT RW 
Ch: 12 RW SS 
Repeat from * for length required finishing after an SCMR then work end as follows 
Second end 
Ch: 14 RW  
SR1:  3 + (3rd R) last SCMR 3 / 6 Cl RW 
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Ch:  8 RW 
SR2:  3 vsp 3 / 6 Cl RW 
Second side 
Ch:  14 - continue to 
LCh: vsp (use safety pin) 4 SLT RW 
DPR1: 2 SS 3 + (last SR) 3 SS 2 SS 3  
+ (SCMR side 1) 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh) SLT RW 
* Ch: 12 RW SS 
SCMR2: 2 SS 
  RA: 3 + (3rd DP) 3 Cl SS 
  SCMR3: 2 SS 
  RB: 3 + (DP on first side) 3 Cl SS 
  SCMR3: 2 SS 
  RC: 3 vsp 3 Cl SS 
  SCMR3: 2 Cl RW SS 
Ch: 12 - continue to 
LCh: vsp (use safety pin) 4 SLT RW 
DPR4: 2 SS 3 + (last SCMR) 3 SS 2 SS 3 + (SCMR side 1) 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh) SLT RW 
Repeat from * until last SCMR has been worked.  RW SS 
Ch: 14 RW 
SR: 3 + (last R last SCMR) 3 / 6 Cl RW 
SCh: 4 SLT SS / 4 
OR  
Ch: 4 vsp  4 T & C to base SR1 
Tail 
If using a SCh then continue with tail of  
SR: 4 / 4 for length required 
If not using a split chain make a tail of split rings by joining first SR to vsp on last Ch 
End motif 
R1: 8 - 6 - 2 Cl 
R2: 2 + (R1) 6 - 6 - 2 Cl 
R3: 2 + (R2) 6 - 8 Cl T & C 

Version 2 - using 3 shuttles 
To make wrapped chains hold Sh1 & Sh2 together over the left hand as if working a normal 
chain.  Work over these two threads as if making the second side of a SR starting with 
second half of ds first (wrapped).  Sh1 will form the centre of the flower (DPR) and the 
SCMR, Sh2 the petals of the DPR and Sh3 the chains. 
First end - using Sh1 and hiding all 3 ends. 
SR1: 3 vsp 3 / 6 Cl DNRW  
Ch: 14 (wrapped) then drop Sh3 and using Sh1 RW 
First side 
LCh: vsp (use safety pin) 4 RW SLT 
DPR2: 2 SS 3 + (SR1) 3 SS 2 SS 3 vsp 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh) 
Ch: (wrapped) 12 drop Sh3 and use Sh2 
* SCMR3: 2 SS 
  RA: 3 + (3rd DPR) 3 Cl SS 
  SCMR3: 2 SS 
  RB: 3 vsp 3 Cl SS 
  SCMR3: 2 SS 
  RC: 3 vsp 3 Cl SS 
  SCMR3: 2 Cl SS to Sh3 
Ch: (wrapped) 12 then drop Sh3 RW - continue using Sh1 
LCh: vsp (use safety pin) 4 SLT RW 
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DPR4: 2 SS 3 + (last SCMR) 3 SS 2 SS 3 vsp 3 SS 2 SS 3 vsp 3 SS 2 Cl DNRW 
LCh: 4 Lj (vsp last LCh) DNRW 
Ch: (wrapped) 12 then drop Sh3 and use Sh2 
Repeat from * for length required finishing after an SCMR then work end as follows 
Second end 
Ch: (wrapped) 14 drop Sh3 DNRW.   
Hold Sh1 & Sh2 together for first part of next SR with Sh1 thread around the hand. 
SR1:  3 + (3rd R last SCMR) 3 / 6 Cl DNRW 
Ch:  (wrapped) 8 drop Sh3 DNRW 
Hold Sh1 & Sh2 together for first part of next SR with Sh1 thread around the hand. 
SR2:  3 vsp 3 / 6 Cl DNRW 
Second side 
Ch:  (wrapped) 14 then drop Sh3 RW 
LCh: vsp (use safety pin) 4 SLT RW 
DPR1: 2 SS 3 + (last SR) 3 SS 2 SS 3 + (SCMR side 1) 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh) SLT RW 
* Ch: (wrapped) 12 drop Sh3 and use Sh2 
SCMR2: 2 SS 
  RA: 3 + (3rd DP) 3 Cl SS 
  SCMR2: 2 SS 
  RB: 3 + (DPR on first side) 3 Cl SS 
  SCMR2: 2 SS 
  RC: 3 vsp 3 Cl SS 
  SCMR2: 2 Cl SS to Sh3 
Ch: (wrapped) 12 drop Sh3 RW continue using Sh1 
LCh: vsp (use safety pin) 4 SLT RW 
DPR4: 2 SS 3 + (last SCMR) 3 SS 2 SS 3 + (SCMR side 1) 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh)  
Repeat from * until last SCMR has been worked.  
Second Part of First end 
Ch: (wrapped) 14 drop Sh3 continue using Sh1 RW 
Hold Sh1 & Sh3 together for first part of next SR with Sh1 thread around the hand. 
SR:  3 + (last SCMR) 3 / 6 Cl DNRW 
SCh:  (wrapped) 4 SLT RW with Sh1 & Sh2 / join Sh3 thread to SR1 on first end 4  
OR instead of SCh work 
Ch: 4 vsp  4 T & C to base SR1 
Tail 
If using a SCh then continue with tail of  
Easy Pearl tatting - http://www.janeeborall.freeservers.com/PearlTatting.pdf 
If not using a SCh then work the tail and end motif as for version 1. 

End motif for pearl tatted tail 
Hold Sh1 & Sh3 together for first part of next SR with Sh1 thread around the hand. 
SR1: 12 / 12 Cl and cut Sh3 SLT - using Sh2 
SR2: 10 / 10 Cl SLT SS 
SR3: 6 / 6 Cl SLT SS 
R4: 8 Cl T & C 

Version 3 - using 3 shuttles 

To make wrapped chains hold Sh1 & Sh2 together over the left hand as if working a normal 
chain.  Work over these two threads as if making the second side of a SR starting with 
second half of ds first (wrapped).  Sh1 will form the centre of the flower (DPR) and the 
SCMR, Sh2 the petals of the DPR and Sh3 the chains. 

First end - using Sh1 and hiding all 3 ends. 
SR1: 3 vsp 3 / 6 Cl DNRW  



Ch: 14 (wrapped) then drop Sh3 and using Sh1 RW 
First side 
LCh: vsp (use safety pin) 4 RW SLT 
DPR2: 2 SS 3 + (SR1) 3 SS 2 SS 3 vsp 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh) 
Ch: (wrapped) 12 drop Sh3 and use Sh2 
* SCMR3: 2 SS 
  RA: 3 + (3rd DPR) 3 Cl SS 
  SCMR3: 2 SS 
  RB: 3 vsp 3 Cl SS 
  SCMR3: 2 SS 
  RC: 3 vsp 3 Cl SS 
  SCMR3: 2 Cl SS to Sh3 
Ch: (wrapped) 12 then drop Sh3 RW - continue using Sh1 
LCh: vsp (use safety pin) 4 SLT RW 
DPR4: 2 SS 3 + (last SCMR) 3 SS 2 SS 3 vsp 3 SS 2 SS 3 vsp 3 SS 2 Cl DNRW 
LCh: 4 Lj (vsp last LCh) DNRW 
Ch: (wrapped) 12 then drop Sh3 and use Sh2 
Repeat from * for length required finishing after an SCMR then work end as follows 
Second end 
Ch: (wrapped) 14 drop Sh3 DNRW.   
Hold Sh1 & Sh2 together for first part of next SR with Sh1 thread around the hand. 
SR1:  3 + (3rd R last SCMR) 3 / 6 Cl DNRW 
Ch:  (wrapped) 8 drop Sh3 DNRW 
Hold Sh1 & Sh2 together for first part of next SR with Sh1 thread around the hand. 
SR2:  3 vsp 3 / 6 Cl DNRW 
Second side 
Ch:  (wrapped) 14 then drop Sh3 use Sh2 
SCMR1: 2 SS 
  RA: 3 + (last SR) 3 Cl SS 
  SCMR1: 2 SS 
  RB: 3 + (SCMR on first side) 3 Cl SS 
  SCMR1: 2 SS 
  RC: 3 vsp 3 Cl SS 
  SCMR1: 2 Cl SS to Sh3 
Ch: (wrapped) 12 drop Sh3 RW continue using Sh1 
LCh: vsp (use safety pin) 4 SLT RW 
DPR2: 2 SS 3 + (last SCMR) 3 SS 2 SS 3 + (DPR side 1) 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh) 
* Ch: (wrapped) 12 drop Sh3 and use Sh2 
SCMR3: 2 SS 
  RA: 3 + (3rd DP) 3 Cl SS 
  SCMR3: 2 SS 
  RB: 3 + (SCMR on first side) 3 Cl SS 
  SCMR3: 2 SS 
  RC: 3 vsp 3 Cl SS 
  SCMR3: 2 Cl SS to Sh3 
Ch: (wrapped) 12 drop Sh3 RW continue using Sh1 
LCh: vsp (use safety pin) 4 SLT RW 
DPR4: 2 SS 3 + (last SCMR) 3 SS 2 SS 3 + (DPR side 1) 3 SS 2 SS 3 vsp 3 SS 2 Cl 
LCh: 4 Lj (vsp last LCh)  
Repeat from * until last DPR has been worked 
Ch: (wrapped) 14 drop Sh3 continue using Sh1 RW 
Hold Sh1 & Sh3 together for first part of next SR with Sh1 thread around the hand. 
SR:  3 + (last DPR) 3 / 6 Cl RW 
Ch:  8 T & C to SR1 
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